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B ‘ ‘ OPP OPP = HYPxSin&
© = (OPP/HYP) Inv Sin Sin® = 15 HYP = OPP/Sin®
B _ADJ ADJ = HYPxCos©
© = (ADJ/HYP) Inv Cos Cos® = 1\ HYP = ADJ/Cos®
_ OPP OPP = ADJxTan&
6 = (OPP/ADJ) Inv Tan Tan® = 457 ADJ = OPP/Tané

Slope Correcti
ope Correction Horiz. Pin to Pin

Slope Pin to Pin (HYP) = Horiz. Pin to Pin (ADJ)/Cos® 12"

v Horiz. Pin to Pin

(d2"-d1")/Horiz. Pin to Pin (Ft.) = Slope (In./Ft.)
&= (Slope(In./Ft.)/12 In./ft.) Inv Tan

e d = Pin to Pin Depth
X(OPP) = d(ADJ)XTan®
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X(OPP) = W(ADJ)x Tane (Ev.1"—EN.2")/Horiz. Bldg. Dim.(Ft.) = Slope (In./Ft.)




